H & 0l & AHS B Ml A

A Xte| & 20t
NEOHH
NE=L 23 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
PSRN 10,005,442 9,372,178 633,264
= 299,687
= 668,782
& 1,372,369
Al 7,664,604
otH 9,855,416 9,232,152 623,264
= 29,687
= 668,782
& 1,352,369
Al 7,534,578
N2 2435 4,944,361 4,244,326 700,035
= 259,687
ax 663,782
& 857,179
Al 3,158,713
DNESEXALS 6,622 6,622 0
203 HRF&lY| 6,622 6,622
03 Al FAIH R FAIH| 6,622 6,622
Ot JRFX 6,622,000& 6,622
2xtel SAIA 17,000 17,000
201 Ler23| 17,000 17,000
01 AtR2elt] 17,000 17,000
OLXelZBAIH, HHlgXitel S 28 M
5,000,000& 5,000
OLREIAIH S - 2EHI H=2&H S
1,000,000 43| 4,000
ORI AIHERA - RRI|12 &5 |3
8,000,000& 8,000
KA OES AT I2|2E KA (HE) 595,000 395,000 200,000
& 535,500
Al 59,500
307 212+01 A 595,000 395,000 200,000
& 535,500
Al 59,500
02 QItBAAIH E X 595,000 395,000 200,000
OXGaAASE LRtelEE NJAY
595,000,000& 595,000
& 535,500
Al 59,500
NEF:=cs yEaxiel MgOIE1RE) 68,328 82,000 A13,672
iy 37,440
& 9,266
Al 21,622
201 Let23H| 9,360 10,000 A\640




2A:

M RO
&elr N8R 243 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,680
=S 1,404
Al 3,276
01 AtR2t2|HI 9,360 10,000 2640
OFd g NASs LA 20 34
A2 W= 9,360,000 9,360
= 4,680
= 1,404
Al 3,276
307 212+01™ 58,968 72,000 13,032
= 32,760
= 7,862
Al 18,346
02 QB EANEEX 58,968 72,000 13,032
OFd 4 NHSa EAclAg 30 3¢
ikl 58,968,000 58,968
[ 32,760
= 7,862
Al 18,346
NE=cs gdgdiiel AGRIA1E) 102,500 0 102,500
[ 56,250
= 13,875
Al 32,375
201 er2 3| 12,500 0 12,500
[ 6,250
= 1,875
Al 4,375
01 At2teltl 12,500 0 12,500
ORd 4 Ie2dI=otd dAieimg &
o 39 ARLSH| 10,500,000 10,500
[ 5,250
= 1,575
Al 3,675
23 Y I2E=EAY SReAE B
2| 2,000,000 2,000
[ 1,000
= 300
Al 700
307 gl2to| & 90,000 0 90,000
[ 50,000
= 12,000
Al 28,000
02 2B YAIHE £ 90,000 0 90,000




SN AR HHY
B DROHE
el NN 243t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORd Y 2= atd dXieimg &
o 343 Q1AH| 90,000,000& 90,000
= 50,000
[ 12,000
Al 28,000
Sy ZEE LAY 259,600 253,400 6.200
= 118,300
Al 141,300
307 el2to| & 259,600 253,400 6,200
= 118,300
Al 141,300
02 QB AHANEER 259,600 253,400 6,200
Otlsd 38d dAclAg
259,600,000 259,600
= 118,300
Al 141,300
HHSSE tAISSLAelAtY 601,760 600,300 1,460
307 elzto| & 601,760 600,300 1,460
02 2IZHBHAIHE & 601,760 600,300 1,460
O =&l (Dream) e 22 601,760,000& 601,760
st Xteldlel X3 50,000 0 50,000
307 @120l & 50,000 0 50,000
02 QA AAEE X 50,000 0 50,000
OUstgRiel SeAHE K&
50,000,000& 50,000
Q=010 NZotH 80,588 80,588
307 glztol & 80,588 80,588
02 LB HAHE L 80,588 80,588
o=l LAt 80,587,680 80,588
ASeitel HERAD 30,874 40,372 AV/iSS]
201 er2 3| 34,074 30,976 3,098
01 AtR2telHl 34,074 30,976 3,008
OBV ACIME FAIRL AL EZ
34,073,600 34,074
301 EtE NS 5,800 9,3% A3,596
11 AALRHIXIR S 5,800 9,3% A3,5%
OLTRIHER D 235t =&
1,000,000 1,000
OgielHER IS 3o @A+
4,800,000& 4,800
2xtelde 29 142,251 143,988 A1,737
101 212A4H| 44,025 42,762 1,263
04 JIZtN2Z2 XS+ 44,025 42,762 1,263
OSHLRAION JI2EMZZ X 2121H] 32,051




2A:

M RO
el NN 243t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—JlEs 9,620 *5AI 2 2B +222 x 11E 23,281
—Fg4g
9,620 *5A| 22 +5 L 11 5,291
— QiR
9,620 *5A| 2 2B+ 1L+ 112 1,089
—S0Z 5,000 2 *22* 112 2,420
OF LI JIZtMZ2 2 A H2e3 5,483
—JI2= 1,780 xbA| 2H 2B «222 x 113 4,308
-5+
1,780 *5A| 2+ 2B 5L 112 979
— Xt
1,780 *5AI2H2B 1L+ 118 196
OF&HLXN JIZN22A 288 3,191
—=gd= 37,532,000 +4. 5% 1,689
—JdHEE 37,532,000 *3.545% 1,331
—LoEIQAEH
1,330,509 *12.81% 7
OF &L JIZHN22 A 048]
150,000 x2&* 112 3,300
201 et 3| 36,820 42,720 /5,900
01 AtR2te|Hl 34,720 36,420 AT700
OgXieldlie 248l 34,020
—dlE 224 10,500,000 10,500
—SAMNEN, ANRES 78 S
400,000 12& 4,800
—IUSRAHIA AR
1,100,000~ 128 13,200
—SOIZHIAIAH 100,000& «12& 1,200
—d2)| AEZR 20,0002~ 12 240
— =29y 100,000& * 12 1,200
—=gJ SRz 240,000& 128 2,880
OFHLNCIME 28 SHLM &8 Het
A =& 100,000& *7& 700
02 S5=2g4l 2,100 7,300 A5,200
OF&L eIt 2| 1,800
—BtNEL AIEE 150,000& * 12 1,800
OF &L LI AIZEHI=Ab 300
—oloi2d 2eldiE (el E4)
300,000 300
202 04l 1,440 1,440
01 =LHA LI 1,440 1,440
OgAeIUHESRD HRF& 0
120,000 x 12 * 122 1,440
203 =2l 4,966 4,966
03 A=A PR FZ| 4,966 4,966




2A:

el 3
B DROHE
el NN 243t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odiiclg= g2 4,966,000 4,966
301 EtE N = 55,000 40,000 15,000
14 JIEt 2 a3 55,000 40,000 15,000
Otz o2 FH(HE3E) bl X1
55,000,000 55,000
I FEREAEY 1,294,974 1,099,497 195,477
< 264,696
Al 1,030,278
201 2egh=3| 1,294,974 1,099,497 195,477
= 264,696
Al 1,030,278
01 At2teltl 1,294,974 1,099,497 195,477
OF&LcIdH 4808 & T2 (82
9 1,294,974,000& 1,294,974
= 264,696
Al 1,030,278
AR HEM T4 A& 22,966 23,966 1,000
201 et 3| 18,000 19,000 1,000
01 At2t2l] 3,000 4,000 21,000
OAzIHEN=d?de S 2834 sE
100,000 x10E *32] 3,000
2 s5=4g4l 15,000 15,000 0
OAMSIAUB N NI FE 2=/
15,000,000 15,000
203 =2l 4,966 4,966
03 A= PR FZ| 4,966 4,966
OAZIHZ MDY Z==sd H2FA
4,966,0002 4,966
ARBIEDIY AFHOHEHI(S2) 112,006 11,173 832
= 78,387
s 5,042
Al 28,576
307 @I2t01 & 112,005 11,173 832
= 78,387
= 5,042
Al 28,576
02 QIZHEAAEE X 112,005 11,173 832
OARRIEDIE AFEIOHEH] IR A
112,005,000 112,005
= 78,387
= 5,042
Al 28,576
ABIZD IS E(LRLIEE, dE) 657,739 715,422 A\57,683
[ 493,277




2A:

A Xte| & 20t
B DROHE
¢l NEFN #4835t EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 164,462
307 212+01™ 657,739 715,422 A57,683
= 493,277
Al 164,462
02 QIZHA A AL E & 657,739 715,422 A57,683
OABIZIIY YT2IHE AL
657,739,000& 657,739
Ay 493,277
Al 164,462
AMEBIEDE AMEIEEE XIJ 75,771 79,064 A3,293
= 56,815
Al 18,956
307 212+01™ 75,771 79,064 A3,293
= 56,815
Al 18,956
02 QIZHAAAIHE X 75,771 79,064 A3,293
OAMIIHISE A28 2 RIJA
75,771,000 75,771
iy 56,815
Al 18,956
02018 |4 XA 50,000 80,000 230,000
= 25,000
Al 25,000
307 212+01™ 50,000 80,000 230,000
= 25,000
Al 25,000
02 QIZHA A AL E X 50,000 80,000 230,000
OotEJ1d SdXIE At
50,000,000 50,000
= 25,000
Al 25,000
MNIIEZHME 29 404,577 133,274 271,303
201 LB-2AY| 234,562 122,834 11,728
01 AtR2telt] 65,908 76,200 A10,292
OAs|HZHEH 29 20,318
—£01&H| 54,0003« 12 1,848
—80o1&d| 0|d 4XIb| 950,000& 950
—=SAMEX S AIRE2E 722
400,000& 122 4,800
—dH{220| SR E 20,0003 «3CH* 123 720
—=S8J| itz 240,000 x1CH+ 123 2,880
—st&A2elH(HetETE)
40,0002 = 12& 480
—HAEBA(ASYY) 720,000& 128 8,640




2A:

SN ESEN,
M2 DSOS
el NN 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OARIHZNAE SR S|
50,0002 6~ 12 3,600
OAZIHE N S228= S M&
14,000,000& 14,000
OAISI ZZMHAE O™ OlAHIS
6,000,000 6.000
OAZI M MU AtQIE &XI
21,990,000& 21,990
02 S3=gHl 22,654 15,634 7,020
OAIHEMEEH 3323 11,280
—dIIR=S 800,000& * 122 9,600
—dot=ER=s 60,0002 * 122 20
—QlEHY & Hetes 80,000& * 122 960
OAI HBMUMAE XteF 2tel 2,700
— =Xl 2,000,000 *1CH 2,000
—332= % HAlL 200,000 1CH 200
-t SYEEER 500,000 500
OARIHZMAE SHOIX =Al2el 6,900
=Xl 300,000 * 12 3,600
—SHOoIX 2l=¢e 3,300,000& 3,300
OdE7 Al 2,470 x475m 1,174
OZJIANHEMAEE 3 Al
600,000 600
03 A= SHI 146,000 31,000 115,000
OMEEHZH AHSE(ARAZ)
20,000,000& 20,000
OAt2IHZ N HHelA 2,000,000 2,000
OAt2I X MDY 82808 248
100,000 *307H At+32] 9,000
OARIH M H2FAAE
45,000,000 45,000
OAMSIHZ R HIAE 50,000,000 0,000
OMIHZHM UERHD 243t FAY|
20,000,000 20,000
202 04t 8,640 8,640
01 =LHOHI 8,640 8,640
OAZI HFMME HRF& 04
120,000 x6& * 122 8,640
301 EtE NS 1,800 1,800
11 AALRHIXIRS 1,800 1,800
OAMIIHZH 23 ALAHI2a
1,800,000& 1,800
401 Al HIZL 01| 115,850 115,850
01 Al&HI 115,850 115,850




2A:

el 3
B DROHE
el NN 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMIIHZHAE SH2INH ZAt
115,850,000& 115,850
405 AtatE = 43,725 43,725
01 ML ESFSHI 43,725 43,725
OAI B MAE HII & Jt+ 2
43,725,000 43,725
AR HEH Y 2 22 45,406 20,49 24,910
201 2= 10,906 12,606 A1,700
01 At22telt] 4,040 5,740 A1,700
OAMIRZH 8 2+ 29 4,040
—dz)| Xz 30,0002 «1CH =12 360
—=gJ SRz 240,000 «1CH*12E 2,880
—datx EaR3 400,000& 400
—4gdAS)|s B
400,000 400
2 35234l 6,866 6,866 0
OMSIHBHM 88 s2 552= 4,800
—&IIR3 300,000 * 12 3,600
—d+k 23 50,000& * 122 600
—QlEY & Hotes 50,000& * 122 600
OAd==Albl 2,4703+836.4m’ 2,066
401 AIEHIX SO 34,500 34,500
01 AlZH| 34,500 34,500
OAIH N egE2t &= SA
34,500,000 34,500
ARl H M HSA2A 36,000 0 36,000
[ 10,800
Al 25,200
201 Ler23 | 6,000 0 6,000
S 1,800
Al 4,200
03 ALY 6,000 0 6,000
OAtIgaDIY ALE XI&
6,000,000& 6,000
= 1,800
Al 4,200
307 21201 & 30,000 0 30,000
< 9,000
Al 21,000
02 2B HAHE L 30,000 0 30,000
OAt2IgaDIY |4 XI&
30,000,000& 30,000
= 9,000
Al 21,000




SN URRIE D
HE: DN
&elr N8R 243 (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
el JZH o102 S 20,000 0 20,000
= 6,000
Al 14,000
201 er2 3| 20,000 0 20,000
= 6,000
Al 14,000
03 A= I 20,000 0 20,000
OAIHZHM HIPDI2d 20,000,000 20,000
s 6,000
Al 14,000
ARIEZH LsEH 20,000 20,000 0
& 6,000
Al 14,000
201 Zet=d] 20,000 20,000 0
= 6,000
Al 14,000
03 A= SHI 20,000 20,000 0
OAt2 XM L
20,000,000 20,000
=S 6,000
Al 14,000
A (EHIDIY) & 105,300 105,300
201 er=3 | 55,300 55,300
01 AFR2telHl 2,800 2,800
O &g e &A=
100,000 *7 & *42] 2,800
03 A= SHI 52,500 52,500 0
Ot &g
52,500,000 52,500
307 @I2t01 & 50,000 50,000
02 LB AANHEE 50,000 50,000
OogHDIY ¥ XI& 50,000,000 13l 50,000
SERAEES 46,100 43,600 2,500
= 6,000
Al 40,100
201 er2&| 26,100 23,600 2,500
01 At2teltl 13,900 11,400 2,500
OZHRAEIAE
100,000 »7 & »23] 1,400
OBERY9TAl 3x+ M AtHl
2,500,000 2,500
OSH2H, ZRLM 222(8) M
10,000,000 10,000
03 A= SHI 12,200 12,200 0




2A:

SN ESEN,
B DROHE
el NN 243t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02829, 292H 2= 2 HHol
12,200,000& 12,200
307 gl2to| & 20,000 20,000 0
= 6,000
Al 14,000
02 QB AANEE R 20,000 20,000 0
OB 283 N
20,000,000 20,000
[ 6,000
Al 14,000
NS S3HA 90,000 91,200 21,200
= 63,000
Al 27,000
201 er23y| 90,000 91,200 1,200
= 63,000
Al 27,000
03 &A=& 90,000 91,200 1,200
OXISSstAt 90,000,000 90,000
= 63,000
Al 27,000
SSZZAMY 2,021,078 2,397,323 A376,245
= 246,000
Al 1,775,078
S3TEANL 1,529,078 2,031,123 A502,045
101 @124H| 1,514,078 2,025,123 A511,045
MU IIRINZZENSES 1,514,078 2,025,123 511,045
OS2 2AIE 2124| 1,514,078,000& 1,514,078
201 fer=2 3| 15,000 6,000 9,000
01 AtR2te|HI 15,000 6,000 9,000
OS2 ZAIE LBtE3h|
15,000,000& 15,000
NEZSSH LR2IArS (M E) 492,000 366,200 125,800
= 246,000
Al 246,000
101 @124H| 483,162 359,800 123,362
= 241,581
Al 241,581
04 JIZtNZ2 2N S+ 483,162 359,800 123,362
OXSESSH LAl el
483, 162,000 483,162
s 241,581
Al 241,581
201 2egh=3| 8,838 6,400 2,438
S 4,419
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2A:

Mm: Do
ol AW A2S FF & 22N=K S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,167,694 1,147,640 20,054
05 2IMRIE =3 1,167,694 1,147,640 20,04
O22NBH=N2 0I29E 2|
650,657,000& 650,657
OLS=X5/2 Dizget 29y
517,037,000 517,037
401 AIEHIZ R 0HYI 17,160 3,300 13,860
01 Al&HI 17,160 3,300 13,860
O=ZZ=sXAE It Ed
1,650,00021%25] 3,300
OLS=X8I2 HYLTAl
13,860,000& 13,860
405 AtaHE = 7,000 79,200 AT2,200
01 T ESFISHI 7,000 79,200 AT72,200
OZ2ZNSE=A2 A I+ 28
7,000,000 7,000
OlssXad 2 305,000 250,000 55,000
= 122,000
Al 183,000
307 elzto| & 305,000 250,000 55,000
= 122,000
Al 183,000
05 212+ =S 305,000 250,000 55,000
OOISLSRaE pI2I9e 29
305,000,000 305,000
== 122,000
Al 183,000
CARIEE O 2SR 315,694 262,282 53,412
201 er2 3| 10,100 7,600 2,500
01 At2t2lt] 10,100 7,600 2,500
O=AIZE O3 S 3lo& A&
,000& x14H 43| 5,600
O AIUEAIR= 0l& OlAHHIS
2,500,000 2,500
O AL EEE 243 R8It X 2=
NEN 2,000,000 2,000
307 glztol & 260,625 254,682 5,943
03 2N EE2SHIEX 260,625 254,682 5,943
OLAIENR= 23 260,624,920 260,625
401 Al HIY S CHYI 29,800 29,800
01 A28l 29,800 29,800
O AIUEAIR= QHIZIN SA
29,800,000& 29,800
405 KHaHE SH 15,169 15,169
01 AL =S F=HI 15,169 15,169




2A:

Ha: DROIY
o9l AFLCARE FE U 222X BA (crel: g)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OANRS 17 & &J| 2
15,169,000 15,169
N ALY &8st K& 210,000 205,000 5,000
= 40,000
Al 170,000
307 gIzHol 210,000 205,000 5,000
= 40,000
Al 170,000
02 QIRHEAAIHE X 210,000 205,000 5,000
O ABIEEAE LS At
210,000,000& 210,000
= 40,000
Al 170,000
LsoHMXIZ0l 29 90,000 90,000 0
& 44,500
Al 45,500
307 gI2tol 90,000 90,000 0
= 44,500
Al 45,500
02 QIR AAIEE X 90,000 90,000 0
OLsotEXI20l 2% 90,000,000& 90,000
= 44,500
Al 45,500
LAY MEHE 2 117,300 111,380 5,920
& 35,190
Al 82,110
307 QI2tol 117,300 111,380 5,920
& 35,190
Al 82,110
02 QIZHBAAIHE X 117,300 111,380 5,920
OLEAY NEEE 2
117,300,000& 117,300
= 35,190
Al 82,110
NEENE —=s8d S2AY 29 41,000 0 41,000
& 20,500
Al 20,500
307 QI2Hol M 41,000 0 41,000
= 20,500
Al 20,500
02 QIZHBAAIH E X 41,000 0 41,000
OXLENHE =8 S2AE 29
41,000,000& 41,000
= 20,500




2A:

Mm: Do
Cel ATLALISS HE U 220=X S (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 20,500
S-S FHAAE HEAS 90,000 0 90,000
== 27,000
Al 63,000
402 212 X201 & 90,000 0 90,000
< 27,000
Al 63,000
02 QIZEXHE AL E X (01X THE) 90,000 0 90,000
OHIL=SA FHAE LA
90,000,000& 90,000
= 27,000
Al 63,000
BHESAL WS & &S| X3 36,000 0 36,000
307 21201 & 36,000 36,000
02 QB HANEER 36,000 36,000
OHIZSAAL 1= & HEEH| XM 2
x= 36,000,000 36,000
wESFTG(LRelZ ) 50,000 50,000 0
wSHBIXH 50,000 50,000 0
JIs&dJItzl K& 50,000 50,000 0
308 XM SOIE 50,000 50,000 0
08 WEJ|20UStEx 50,000 50,000 0
OJisdllt=l tigl =22 1829 X
50,000,000 50,000
AY2IZH(L eI Z 2D 100,026 90,026 10,000
= 20,000
Al 80,026
el 2| 50,000 40,000 10,000
s 20,000
Al 30,000
MBI HBHAE Q=H2EH| 50,000 40,000 10,000
[ 20,000
Al 30,000
101 @124H| 50,000 40,000 10,000
= 20,000
Al 30,000
02 JIEtAE = 50,000 40,000 10,000
OAMSRB MU S2E5 A2
50,000,000& 50,000
= 20,000
Al 30,000
=238l 50,026 50,026 0
JI23Hl 50,026 50,026 0




2A:

EPNT= PSRN,

M BNSAAH| (LR WD
=l Jl=3H| (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 20,506 20,506
01 At2teltl 19,440 19,440
ORNEgII123H 19,440
—2Bt=Shl 40,0003~ 18~ 122 8,640
—=&l 50,0002 x18& 12 10,800
02 35244l 1,066 1,066 0
ORER= 1,066
—get 430 +302A* 122 155
—S 2,530 %3021 x 122 a1
202 O4H| 25,920 25,920
01 2L AL 25,920 25,920
OgRFZ|=0|
120,000 x18F 122 25,920
203 g4l 3,600 3,600
M EA2HER=AH 3,600 3,600
ORNEgeE =AY 300,000& 122 3,600




